121 circles in a circul ar quadrant
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124 circles in a circular quadrant
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N = 127

127 circles in a circul ar quadrant
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130 circles in a circul ar quadrant
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122 circles in a circul ar quadrant
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125 circles in a circul ar quadrant

N
I I~ 2N
}@@.@\-@‘g N
DL O GRGENS G
O =GR R () e
OOy

ﬁ>< <1 <1 \-ie‘,AvA

R I PRI P
e>< > ><®> 4%‘@6
< < > > >

S o eRaEe” o)
< > > > (| >
R .@@@a‘fe
< 4@ 4@»4 < »‘ A
OO N=C
> e><®><e>< He
& Carores

; a
O, NOn,. .~
P CNE QY

ﬁe @W‘G

8’
<

4
S

:
o)

(Rt
> >

radius
ratio

0.040665412126  density
24.500022548441  contacts

W
°
Lo
8
a
&
3
<

N =128

128 circles in a circul ar quadrant
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131 circles in a circul ar quadrant
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123 circles in a circular quadrant
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126 circles in a circul ar quadrant
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129 circles in a circular quadrant
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132 circles in a circul ar quadrant
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